>
A & 0l & AF 2 E A A
20158 & =0l & L BHSI A ZOH el = Xt
AN ZOHA =X
Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZOH e = Xl ot 111,546,903 102,524,443 9,022,460
= 83,839,609
< 27,707,294
ZoHe sXsd 111,053,957 102,031,497 9,022,460
= 83,528,315
< 27,525,642
e =XsH 37,504,247 35,874,676 1,629,571
= 30,838,431
< 6,665,816
oAz XA 26,969,546 25,271,046 1,698,500
= 23,897,066
= 3,072,480
308 MtXIEHMSOIH 26,969,546 25,271,046 1,698,500
= 23,897,066
< 3,072,480
01 HXNHHNBHEES 26,969,546 25,271,046 1,698,500
OFeldzs XA 26,969,546
= 23,897,066
= 3,072,480
== XA 6,078,860 6,078,860 0
= 5,386,332
< 692,528
308 XX EHH SOl 6,078,860 6,078,860 0
= 5,386,332
< 692,528
01 IXNHHBNEES 6,078,860 6,078,860 0
OFM=Z(IN=)XA 2,929,017
= 2,595,332
< 333,685
QXM+ (Ha=AS)XE 3,149,843
= 2,791,000
< 358,843
Fope ozH XN& 1,337,818 1,337,818 0
= 1,244,482
= 93,336
308 X EHSOIA 1,337,818 1,337,818 0
= 1,244,482
< 93,336
01 HXNHHNBNEES 1,337,818 1,337,818 0
OFofele =2l 1,337,818
= 1,244,482
< 93,336
ZOHQ XHHR=H XA 38,137 38,137 0
= 35,476
< 2,661




2N
X ZH -
L= B
el

ZOf el =Xl ot
ol sXsd
e sxsa

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
308 AXISHMSOIHA 38,137 38,137 0
= 35,476
[ 2,661
01 HXHHBIMNEXTS 38,137 38,137 0
OO XH W= 38,137
= 35,476
& 2,661
ool SEXSY X 23,375 22,110 1,265
= 23,375
308 XX SHHSOIH 23,375 22,110 1,265
= 23,375
01 AIXHHBAAEXZ 23,375 22,110 1,265
O&SE &R CHY| 23,375
= 23,375
ZOfQl MEOHY K& 1,886,900 1,917,065 A 30,165
308 AHXI S M SO0l & 1,886,900 1,917,065 A 30,165
1 AXNESHMBAEETZ 1,886,900 1,917,065 AN 30,165
O&OfI Mot X| & 1,871,900
Osl¢lLsZAAS 15,000
SHEE0NQ FEHIRZAIY K& 254,410 254,410 0
= 195,700
o= 58,710
403 XX IS A0l N 254,410 254,410 0
= 195,700
== 58,710
01 HXHXMAHEE = 254,410 254,410 0
OsHEZO0C =X 254,410
= 195,700
& 58,710
SOOI ES XA 425,400 511,534 N 86,134
201 YEr2 b 15,000 14,734 266
01 AtR 22l bl 15,000 14,734 266
OFOfel oA LU olAfd2te I Z 15,000
203 ¥R =&Y 7,600 7,600 0
03 Al ZZ @ =AY 7,600 7,600 0
OF0jOI=X BHOYPEX 2,850
O&MA=EX AHLRE=X 4,750
307 QI2t0| & 371,000 461,000 A 90,000
11 AMISAAEEXR 371,000 0 371,000
OO X TH 2 AF 55,000
O &M A2 18,000
OsdIZ22Ax35E3AUS 10,000




2N
X ZH -
L= B
el

ZOf el =Xl ot
ol sXsd
e sxsa

SiE}
SA-ZH () - HRAY - BES Off &4 %Il&ﬁ Hwsz
PENEERSEIEINE 288,000
308 X+Xl EHH S 0l & 25,200 13,200 12,000
01 IXISHBAEES 25,200 13,200 12,000
OAEZNY LRHAMSMY T28 X 13,200
OAMEZO 2 AZ2S(HOH) 12,000
403 XX SHHISTH=201A 6,600 15,000 A8,400
01 IXSH 2= 6,600 15,000 A8,400
OA2ROHQIB S BHIRZ(AA) 6,600
ZHOH O TH 2 AF K| 2 144,000 144,000 0
308 X+Xl & H S0l & 144,000 144,000 0
I RXSHBAEES 144,000 144,000 0
O Al & OH Q1 TH & A+ 144,000
ONOI N 25X 2 ALY 111,210 111,210 0
308 XXl EHAHIS 0l & 111,210 111,210 0
01 IxXISABaEES 111,210 111,210 0
OZOQl AERTSK 111,210
0§ QI W A 90,000 70,000 20,000
= 56,000
= 34,000
307 gI2tol & 90,000 70,000 20,000
= 56,000
= 34,000
1 ASISXIAS 8 X 90,000 0 90,000
OO & =00l 1 S AF 70,000
= 56,000
= 14,000
OZO0IEY OHFO A WA 20,000
=Y E=IRI RPN =pNEy= 134,591 108,486 26,105
307 gI2t0l & 134,591 108,486 26,105
10 A SNAEHE I 2 X 134,591 108,486 26,105
OZ0HQl QAN 29 134,591
HOHQISX20F HHEA 2 10,000 10,000 0
201 LBt 10,000 10,000 0
01 At 22l 10,000 10,000 0
OFMAZSX 20 HHHA 2 10,000
ZOjel RHE X 29,275,559 29,184,245 91,314
= 22,643,688
< 6,631,871
HOHATLTHEAIL 2 865,027 769, 162 95,865
307 gI2tol & 85,000 101,000 216,000




SH: BOHOI= D
HE: Zoje =SXNEA

Selr ZoH XX (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
1A SXAIE E = 85,000 0 85,000
OS=sn UM AMEANE HAAHANY XA 15,000
o5t 2SX& 70,000
308 XXM SO0l A 780,027 668, 162 111,865
01 HIXNHHBNEES 780,027 668, 162 111,865
OZMAXMNATNEALE 2E S N 780,027
ZOHARATHEA LI SEZ XA 1,500,000 1,500,000 0
= 1,000,000
< 500,000
403 UtXISHE X201 & 1,500,000 1,500,000 0
= 1,000,000
< 500,000
01 X SHHX2E = 1,500,000 1,500,000 0
OZMHAXMATHEAE JIs2S 1,500,000
= 1,000,000
< 500,000
O MAS HIHAIE2S 176,000 178,620 A 2,620
= 64,750
< 111,250
307 gl2tol & 172,500 178,620 26,120
= 63,000
< 109,500
10 AL SXNAIEEE2EHEX 157,500 178,620 A 21,120
OZOMAMAST EHIHAIE 24 157,500
= 63,000
< 94,500
11T MISAASEX 15,000 0 15,000
OSTZMHUMAME HIIZEMWE 2 B 15,000
402 2I2H X201 M 3,500 0 3,500
= 1,750
< 1,750
01 It =2 AL E X 3,500 0 3,500
OOl MAZ EHIHAILIISES 3,500
= 1,750
< 1,750
ZOHQ NEME X2 474,000 444,440 29,560
= 120,000
< 354,000
307 glz2tol & 300,000 270,440 29,560
10 ALSISXAIEEE 2 H EX 300,000 270,440 29,560
QX XSMEHH 2 XS (XHH) 300,000
308 XtXIEHH SOl A 174,000 174,000 0
= 120,000
< 54,000




2N
e =SXsN

el

X ZH
S =

ZOf el =Xl ot

Zoel X

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 IXHHNIMNEXS 174,000 174,000 0
OQZoHel Xt MatdE 29 XK (=4]) 174,000
= 120,000
== 54,000
O E=SAEH 18,604,305 18, 185,643 418,662
= 15,501,662
o= 3,102,643
307 212t0| & 20,000 20,000 0
05 QIZ2tEF 2 20,000 20,000 0
OZZZQ S=8X X (Z=IH) dIHRH™
249 20,000
308 XX SHAHSOIH 18,584,305 18, 165,643 418,662
= 15,501,662
= 3,082,643
01 AIXSHMENEXZ 18,584,305 18, 165,643 418,662
OFOMC &SXE ALY 17,385,643
= 15,405,000
& 1,980,643
OF=ZMe #=s2X (=0} 1,102,000
OXMS=LSHeAlHAIE XA 96,662
= 96,662
ZHOHel L X2l A X & 4,341,142 4,373,552 N 32,410
= 3,351,656
& 989,486
307 21240 400,288 400,288 0
= 320,230
= 80,058
11 A EXAIEEX 400,288 0 400,288
O3 & AIZHZ0HQ OFOFAF HFA ALY 400,288
= 320,230
&< 80,058
308 XX SIS 0| & 3,940,854 3,973,264 A32,410
=2 3,031,426
& 909,428
01 IXHHNIMNEXS 3,940,854 3,973,264 N 32,410
OZofel EXgXxel X3 1,083,757
= 833,659
= 250,098
OZ&ofel et dRxtel K& 2,857,097
= 2,197,767
& 659,330
ZofotE JIEXNL 2,951,328 3,383,696 N432,368
= 2,532,620
& 418,708
307 2izto| A 24,000 0 24,000




AN HOHUSX 2t
g Foje sxsd
S ZoHe MHEXE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 ALSISXAIEEE2EHEX 24,000 0 24,000
OgEdMeBS=HdANSI2I2 XS 24,000
308 XX EHHSOIA 2,927,328 3,383,696 A 456,368
= 2,532,620
< 394,708
01 HXNHHBHELS 2,927,328 3,383,696 A 456,368
OLEMeE M~ X3 2,546,057
= 2,256,000
< 290,057
oguge XA 148,407
= 131,500
< 16,907
OZOeIItE XJAAL 72,000
Oggafe 22 Melad X 102,384
= 90,720
< 11,664
OHdE=AAMNEIA X 38,700
= 36,000
< 2,700
OdUSANEHEI HE KA 19,780
= 18,400
= 1,380
Zofel EXJF2 XA 133,757 139, 132 A5,375
= 73,000
< 60,757
308 XXIEHHSOIA 133,757 139,132 A5,375
= 73,000
< 60,757
01 AXHHILEES 133,757 139,132 25,375
OFOMAEERI 7 XA 78,475
= 73,000
< 5,475
OZMAEER +=cIX& 50,282
O HNMESI| EXXA 5,000
o 2= 80,000 80,000 0
307 21201 A 80,000 80,000 0
11T A SXAIEE = 80,000 0 80,000
OISt AHEH 24 70,000
OAIZZHQIHE 29 10,000
SEHMHAUNESXJHEYH 22 150,000 130,000 20,000
307 21201 A 150,000 130,000 20,000
10 ASISRAABE 2 B X 150,000 130,000 20,000
OZOCIIIEXNJAEH 24 150,000
ool AlgEs 44,274,151 36,972,576 7,301,575




2N
X ZH -
L= B

el

=N IE
Zojel =NEA
Tojel AlMEE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 30,046,196
< 14,227,955
ZOHAANFAIE 29 30,743,273 25,033,429 5,709,844
= 27,227,582
< 3,515,691
307 glz2tol & 15,000 0 15,000
11T MISRASEX 15,000 0 15,000
OHOMANF=AIE QFE HYL=E 15,000
308 XtXIEHH SOl A 30,728,273 25,033,429 5,694,844
= 27,227,582
= 3,500,691
01 HXNHHMBHELS 30,728,273 25,033,429 5,694,844
OFM HF=AE 29 30,728,273
= 27,227,582
< 3,500,691
ZOHI=RAIE A 2A0E22 NIAS 130,540 127,980 2,560
= 115,668
< 14,872
308 XX EHSOIA 130,540 127,980 2,560
= 115,668
< 14,872
01 HXNHHNBNEELES 130,540 127,980 2,560
OFMA=XAE AHlga0lEa2 XA 130,540
= 115,668
< 14,872
SSEML ESX=E 86,400 479,286 A 392,886
308 XXM SO A 86,400 446,988 A 360,588
01 IXNSHHBANEES 86,400 446,988 A 360,588
OHUMUNFAE HENEH SSHHLES A
=g 86,400
ZOCIA=AIE JIsE2L NE 3,446,925 2,404,260 1,042,665
= 2,700,306
< 746,619
403 MtXISHHE A0l E 3,446,925 2,404,260 1,042,665
= 2,700,306
= 746,619
01 XM A2 X 3,446,925 2,404,260 1,042,665
OZMLANHFAIL JISsSEZL 3,446,925
= 2,700,306
< 746,619
o= 249 5,138,946 5,289,809 A 150,863
207 A RO 50,000 0 50,000
01 289 50,000 0 50,000
OFMe=R2 Jse2sd dE8d 50,000
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AN HOHUSX 2t

g Foje sxsd

Sl Mojel AlssE CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OANZEHUAMREHH JIsE2d 48,000
QIS THEANE 2HY 358,800 297,000 61,800
= 2,640
= 356, 160
307 QI2t0| & 350,000 297,000 53,000
10 Al EXNANEEHE2IGH EX 350,000 297,000 53,000
QXU S THEANE 29 350,000
402 BI2H X =20l M 8,800 0 8,800
= 2,640
== 6,160
01 QIZEXIE2AIE 2 X 8,800 0 8,800
O ZMEANE JIsES 8,800
= 2,640
= 6,160
M= 249 97,400 188,000 A 90,600
307 giztol A 97,400 88,000 9,400
10 MM SAANEEESIGHEX 97,400 88,000 9,400
OXMHEs2 29 97,400
ZOHQIHEHOIAI L &= 550,300 506,000 44,300
307 QI2t0| ™ 265,000 242,000 23,000
10 A SXNANEEHESIHEX 240,000 230,000 10,000
OSYHZXCIHOA|IEXRME 2Y 165,000
OEANAE X EUFIE 29 75,000
11T A EXAIEEX 25,000 12,000 13,000
QUEOANE DHAANME U AEHEA} 25,000
308 XHXIEHMSOlIA 216,300 195,000 21,300
01 AIXSHMENMNEX= 216,300 195,000 21,300
OANZEHOIHOAI LR RAHAH2HE (1500 A) 216,300
403 XX SHHS K20 & 69,000 69,000 0
01 XIS A=Z2E X 69,000 69,000 0
O33J|& HOAILD EX ALY 69,000
ZOHOLDIE Ot =X 444 706 444 706 0
= 311,294
o=} 133,412
ZOHOIIIE Ot $¥=EXH 444 706 444 706 0
= 311,294
= 133,412
ZOHOIDIZ OIS Y= A& 444 706 444 706 0
= 311,294
= 133,412
307 QI2t0| & 444 706 444 706 0




SM: FOHOI=ZX D
HH: ZOHOIILE OF S
el ZOHOIIIE Ot &

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 311,294
< 133,412
11 AISI S XA E X 444,706 0 444,706
OZOoIIE 2= K& 444,706
= 311,294
S 133,412
HY2HZH (A=) 48,240 48,240 0
JlEZl 48,240 48,240 0
Jl=2Z8l (ZOoiel =Xl 1) 48,240 48,240 0
201 Let2d] 22,800 22,800 0
01 At 22l 22,800 22,800 0
O&HMeI=X dRF4 22,800
202 O4dl 22,440 22,440 0
01 =S LHA YI 22,440 22,440 0
O&MeI=X SRFH 22,440
203 R =&Yl 3,000 3,000 0
04 NI 3,000 3,000 0
OHM =Xt 3,000




